04

VCA0001

'; i3 2 £
: ERLE ) 2 it
' _—_:d_-@ ;_ = n ;;-
o |_ """I’_}
It
i el i ¥ £y
- '_ [ SRR T
5 ;i=* 3 I 'ﬁTgﬂli’ £ il
= e ) B AL % i
o *ﬁg: '::'. .| ﬁ__, : ﬁ £
i ™ i
: i 4~ i 3 L ST
1 3 --.1 v WS
o, : * o~ 1% 4 % T
(@ e S 8 AN | i
- : I &k - f
I : ; JES i K/; =8 ‘ g HH%
- 5w A 3§ .I'/ i ;_1 AT !
2 | = {-.'%E A ‘ .PJ
¥ e - {' £ | ! ‘L'. 7/ b3
.--. .‘: R Eﬁ'_ﬁﬁﬂl._*_ﬂl‘!‘%i"[. :u e? g‘ _... ''''' \ ! [ I;'._.' ‘?:
_,,:";_-..l‘ ;/ sy 5, _. \_\_:_%‘:IJ\.II " 3 A w ’ ,i%lg-i Ll
N, ¥/, R WAL \ .
riac ‘ AN @\&‘W—~ .
; . -|| ‘:""\\‘\ (‘} ‘l#:_ -.-‘ 1.
19 & 43 EE ‘ 33 1='-'(:-;-’_\ ]
: ‘! _l | | - :- T| fl : - :] I.'|*_I' I.l 2 :
I i | 'II -'Ilr 1] .I ¥ C
W | AR . £
N =20 ] ] ' [/
e 1 1L il
I - ) —-—u—f-é “h+-—-l . --i-;r--- : : \‘F
7 1
, {h {2 }+~_+$ @ Gﬁﬂi kkﬂ]'fﬂ i
= I_ | r ’_rlf?' #—i’ ‘ . -
: ' | : \ |
'F—_-"T J I ¥ | | ’]l I. ﬁ‘ 1
=1} — ol w s M i
=7 2| ‘ | o
= i

VCA0001
N
STOCK CODE DESCRIPTION MAN.PART
NUMBER /
DRAWING REF
VPE2001 VEG/CUT ANVIL - EJECTOR NORMAL (LOW) 09538.9
XLQS8928 L1Q SKYMSEN LAR(4LT+25LT)-NYLON COVER 02031.1
XLQS8934 L1Q SKYMSEN LAR(4LT+25LT)-CORD HOLDER PG13,5 LC+P/9 31923.6
XLQS8944 L1Q SKYMSEN LAR(25LT)-NUT M5 DIN 934 S/S 10471
XLQS8945 L1Q SKYMSEN LAR({25LT)-SCREW M3X10 DIN 84 S/S 124915
XLQS8955 L1Q SKYMSEN LAR({25LT)-ON/OFF SWITCH 262285
XLQS8957 L1Q SKYMSEN LAR(25LT)-THERMAL PROTECTION 32629.1
XPPS6029 POTATO PEELER 10KG - SCREW NUT 1/4 " 04035.5
XTDS2012 SKYMSEN LSB (276022) - REED SWITCH 20032.8
XVCA0002 VEGETABLE CUTTER ANVIL - DISC LOCK PIN 09189.8
XVCA0020 VEGETABLE CUTTER ANVIL - DRIVE SHAFT WITH PIN 08594.4
XVCA0023 VEGETABLE CUTTER ANVIL - SCREW 03188.7
XVCA0024 VEGETABLE CUTTER ANVIL - MOTOR PULLEY 08591.0
XVCA0027 VEGETABLE CUTTER ANVIL - HANDLE [NEW] 44478.2
XVCA2002 VEGETABLE CUTTER ANVIL - HANDLE ROLLER PIN 09581.8
XVCA2003 VEGETABLE CUTTER ANVIL - ROLLER 09580.0
XVCA2004 VEGETABLE CUTTER ANVIL - BUSH GUIDE 10016.1
XVCA2005 VEGETABLE CUTTER ANVIL - PIN 12 WHITE 09214.2
XVCA2006 VEGETABLE CUTTER ANVIL - SCREW M6X20 DIN 09196.0
XVCA2007 VEGETABLE CUTTER ANVIL - SOCKET 444871
XVCA2008 VEGETABLE CUTTER ANVIL - OBLONG SOCKET 444863
XVCA2009 VEGETABLE CUTTER ANVIL - ROUND NOZZLE 44319.0
XVCA2010 VEGETABLE CUTTER ANVIL - BUTENTE ROD 44514.2
XVCA0022 VEGETABLE CUTTER ANVIL - WASHER 17181.6
XVCA0013 VEGETABLE CUTTER ANVIL - LID MAGNET 20033.6
XVCA0026 VEGETABLE CUTTER ANVIL - LID LOCK PIN 09190.1
XLQS58929 L1Q SKYMSEN LAR(4LT)- CLAMP 04203.0
XLQS8942 L1Q SKYMSEN LAR(25LT)-TERMINAL-2434 03283.2
XVCA2001 VEGETABLE CUTTER ANVIL - DOOR LATCH BASE 08838.2

www.bce.co.za



